
(PRICES SUBJECT TO CHANGE WITHOUT NOTICE) 

We Appreciate You and Your Business! 

EQUIPMENT COMPANY            (229) 985-1101 
P.O. BOX 3157 • 2169 SYLVESTER HIGHWAY • MOULTRIE, GEORGIA 31776-3157 

ALL IN ONE LAWN AND GARDEN 12 VOLT SPRAYERS 





INDEX 

PAGE NO…………………………………………………………………….……DESCRIPTION 

1…………………………………………………………………………..……….Model Description and Overview 

2………………………………………………………………………………………….………………………..………Assembly 

2………………………………………………………………………………………………Before Using and Operation 

2……………………………………………………………………..………………..….Maintanance and Precautions 

3……………………………………………………………………………………………………….………Trouble Shooting 

4……………………………………..…LG15/25 with D2131F1311 Pump, Parts Breakdown and Listing 

5………………..………………..LG15/25e Economy Lawn and Garden,Parts Breakdown and Listing 

6………………………….LG15/25 with 04300-500 Pump and KLC Tip,Parts Breakdown and Listing 

7………………..30 & 50 Gallon PCO Lawn & Garden with Handgun ,Bypasss D2131F1311 Pump   

                          Parts Breakdown and Listing. 
8…………………………………………………………………………….….Handgun Parts Breakdown and Listing 

9-10………………………………………………………………04300-500 Pump Parts Breakdown and Listing 

11-12…………………………………..……………………..D2131F1311 Pump Parts Breakdown and Listing 

 

 

 

 

 

 

 

 

 



ALL IN ONE
SKID/ TYPE 

12 VOLT SPRAYERS
�

Van’s offers a line of personal lawn & garden units in either 15 
or 25 gallon sizes. These models are ideally suited for many 
uses around the home or farm. The skid model is light & easy 
to handle and can be used with your Riding Lawn Mower, ATV 
(four wheeler), or truck. It can be mounted almost anywhere 
and can be operated with any 12 volt battery.

Model L15E/25E Shown

 

Model LG15������	�
	����
����������� Model LG25������	�
	����
�������������

 

30 & 50 Gallon SKID/TYPE 12 VOLT SPRAYER

 

30 Gallon All In One with Flo Jet  02100-835

 

Model # LG3011 Price  

 

50 Gallon All In One with Flo Jet  02100-835

 

Model # LG5011 Price  

 

30 Gallon All In One with Flo Jet  04300-500

 

Model # LG3012 Price  

 

50 Gallon All In One with Flo Jet  04300-500

 

Model # LG5012 Price  

All 30 & 50 Gallon
Units Use PCO Tanks

(PRICES SUBJECT TO CHANGE WITHOUT NOTICE)

We Appreciate You and Your Business!

EQUIPMENT COMPANY            (229) 985-1101
P.O. BOX 3157 • 2169 SYLVESTER HIGHWAY • MOULTRIE, GEORGIA 31776-3157

Standard Features Include:

 1) Choice of 15 or 25 Gallon Polyethylene Tank
 2) 5” Fillwell for Easy Access & Cleaning
 3) 15’  Clear Braid Hose & Hand Gun

 4) 12 Volt Pump - 40 PSI
 5) Molded in Inserts in Bottom of Tank for Mounting
 6) Complete Wiring Harness



ALL IN ONE LAWN AND  GARDEN SPRAYER :  OWNERS MANUAL 

ASSEMBLY 

    Your VAN’s  ALL IN ONE Sprayer is Fully Assembled and  Tested at the Factory. The Only Assembly You 
Need  to do is to Hook the Wiring Harness Clips to a 12 Volt Power Source,(RED WIRE TO POSITIVE 
+,BLACK WIRE TO GROUND-). 

     PLEASE NOTE: PUMPS ON THESE LAWN AND GARDEN UNITS ARE FOR INTERMITTENT USE ONLY. 

THEY ARE MORE THAN  ADEQUATE TO SPRAY THE COMPLETE COMTENTS OF A 50 GALLON TANK. 

WE RECOMMEND A 30 MINUTE DOWN TIME AFTER EVERY TANK FULL. 

BEFORE USING/OPERATION 

1  Always Test and Check for Leaks With Clean Water. 
2 To Start/ Prime Unit the Discharge Line Must Be Open to Allow Traped Air To Escape. Once The                 

Pump Is Running The Pressure Switch Will Shut Off The Pump When Discharge Is Closed,and Open 
When Discharge Is Opened.  

3 The Tip On The Spray Gun Is Adjustable and Can Be Set From Straight Stream To Wide Fan Pattern. 
4 On Units With Secondary Outlets ,Such as A Boom or Flood Tip,There Will Be A Ball Valve In the 

Feed Line To this Outlet. Release Of The Trigger On The Gun Shuts The Gun Off. These Units Will 
Also Have A ON/OFF Switch To The Pump. The ON/OFF Switch to the Pump  Comes In Handy In  
Situations , Such As Turning Unit Around,When Secondary Outlet Only Needs To Be Off For A Short 
Time As It Is Easier To Reach. Turn Ball Valve Off When Using Only Gun. 

5 Look Inside Tank To Make Sure It Is Clean. 
 

  MAINTANANCE AND PRECAUTIONS: 

1 Be Certain Power Source Comforms To Pump Voltage. 
2 Be Certain  Wiring Harness RED LEAD Goes To Positive(+),and Black To Ground (-). 
3 Do Not Use To Pump Flammable Liquids. 
4 Follow All Instruction On Chemical Contianer. 
5 Flush With Clean Water After Every Use. 
6 Do Not Restrict Suction Line. 
7 Do Not Alter Sprayer. 
8 Do Not Store Chemical In Tank. 
9 Always Clean Tank Throughly Between Sprays or When Switching Chemicals. 
10 Do Not Run Pump Dry. 
11 If Freezing Conditions Will Occur , The Pump Must Be Liquid Free or Winterized With Proper 

Anti Freezing Chemicals. 

TROUBLE SHOOTING: 

2



MOTOR FAILS TO PRIME (MOTOR OPERATES,BUT NO PUMP DISCHARGE 

1 Restricted Intake or Discharge Line.Open All Line Valves,Check For Cloggs or Kinked Lines. 
2 Air Leak In Intake Line. 
3 Punctured Pump Diaphragm. 
4 Defective Pump Check Valve. 
5 Crack In Pump Housing. 
6 Debris In Check Valve. 

 

         MOTOR FAILS TO TURN ON 

1 Pump or Equipment Not Connected To Power Source. 
2 Loose Wiring Connection. 
3 Pressure Switch Failure. 
4 Defective Motor or Rectifier. 
5 Frozen Cam/Bearing. 

PUMP FAILS TO TURN OFF AFTER DISCHARGE VALVES ARE CLOSED 

1 Depletion Of Available Liquid Supply. 
2 Punctured Pump Diaphragm. 
3 Discharge Line Leak. 
4 Defective Pressure Switch. 
5 Insufficient Voltage To Pump. 
6 Debris In Check Valve 

         LOW FLOW AND PRESSURE 

1 Air Leak At Pump Intake. 
2 Accumulation of Debris Inside Pump and Plumbing 
3 Worn Pump Bearing(Excessive Noise) 
4 Punctured Pump Diaphragm 
5 Defective Rectifier or Motor 
6 Insufficient Voltage To Pump 

 

         PULSATING FLOW-PUMP CYCLING ON AND OFF 

        1     Restricted Pump Delivery,Check Discharge Line,Fittings,Valves,and Nozzle For Cloggs or       
Undersizing   

 

3



ITEM NO. DESCRIPTION PART NO.
1 Tank 15 gallon lawn & garden 47029

1A Tank 25 gallon lawn & garden 47033
2 Nipple 1/4"x 10" PVC (15 gallon only 202-100

2A Nipple 1/4"x 14" PVC (25 gallon only 202-140
3 O-Ring 3/4" ID x 1" OD x 1/8" diameter 67070
4 Tank fitting brass 1/4" 67069
5 Elbow 1/4" MPT x 3/8" barb 90  nylon EL1438
6 Hose clamp 1/8" M4P
7 Hose 3/8" clear braid reinforced thin wall 239002
8 Elbow 3/8" MPT x 3/8" barb 90  nylon EL38
9 Pump 12 volt D2131F1311

10 Wiring Harness WH-L1525
11 Hose 3/8" clear braid reinforced thin wall 239002
12 Spray gun 22670-PP-15-406
13 Gun rack L15GR
14 10/32" Flat washer FW10-32
15 10/24" x 3/4" Bolt 10/24-3/4
16 5/16" Flat washer FW516
17 5/16" Lock washer LW516
18 5/16" Nut HN516C

LG15/25 with D2131F1311 PUMP and HAND GUN

4



IT
EM

 N
O

.
DE

SC
RI

PT
IO

N
PA

RT
 N

O
.

1
Ta

nk
 1

5 
ga

llo
n 

ec
on

om
y 

la
w

n 
&

 g
ar

de
n

SB
00

01
5

1A
Ta

nk
 2

5 
ga

llo
n 

ec
on

om
y 

la
w

n 
&

 g
ar

de
n

SB
00

02
5

2
Bl

ac
k 

vi
ny

l w
as

he
r 5

0/
60

 m
es

h
10

37
3

3
Fl

at
 sw

iv
el

 n
yl

on
 3

/8
" g

ar
de

n 
ho

se
C3

8
4

N
ut

 b
ra

ss
 g

ar
de

n 
ho

se
 th

re
ad

 3
/4

"
B3

3B
5

Ho
se

 c
la

m
p 

1/
8"

M
4P

6
Ho

se
  3

/8
" c

le
ar

 b
ra

id
 re

in
fo

rc
ed

23
90

02
7

Pu
m

p 
12

 v
ol

t (
 1

gp
m

   
40

ps
i)

22
00

-2
01

8
Fl

at
 w

as
he

r 1
0/

32
"

FW
10

/3
2

9
Sc

re
w

 1
0/

24
" 

x 
3/

4"
10

/2
4-

3/
4

10
Ho

se
 3

/8
" c

le
ar

 b
ra

id
 re

in
fo

rc
ed

23
90

02
11

G
un

 c
lip

 k
it

G
C-

10
0-

KI
T

12
Sc

re
w

 1
0/

24
" 

x 
3/

8"
10

/2
4-

3/
8

13
Sp

ra
y 

gu
n

18
00

-0
2

14
W

iri
ng

 h
ar

ne
ss

W
HK

-1
01

SB
C

L
G
1
5
/
2
5
E

E
C
O
N
O
M
Y

L
A
W
N

a
n
d
G
A
R
D
E
N



ITEM NO. DESCRIPTION PART NO.
1 Nipple 1/4"x14" PVC 202-140
2 Tank fitting brass 1/4" 67069
3 O-Ring 1/4" 67070
4 Elbow 1/4"MPT x 1/2" Barb 90  nylon EL1412
5 Hose clamp 1/2" M6P
6 Hose 1/2" clear braid reinforced 239003
7 Pump 12 volt 3.5 gpm D4300-500
8 Quad fitting 1/2" MPT x snap 20381-000
9 Quad fitting 1/2" barb 90  x snap 20381-009

10 Flat washer 10/32" FW10/32
11 Bolt 10/24"x 3/4" 10/24-3/4
12 Tee 1/2" FPT nylon TT12
13 Reducer bushing 3/4" mpt x 1/4" fpt nylon RB3414
14 Nipple 3/8" x close nylon M38
15 Tee 3/8" FPT  poly TEE038
16 Ball valve brass (chromed) 3/8" mpt x fpt 90FMB38
17 Hose shank 3/8"mpt x 1/2" barb nylon A3812
18 Hose 1/2" clear braid reinforced 239003
19 Elbow 1/4"MPT x 1/2" Barb 90  nylon EL1412
20 KLC nozzle Brass size 18 1/4KLC-18
21 Elbow 1/2"MPT x 3/8" Barb 90  nylon EL1238
22 Hose Clamp 3/8" M4P
23 Hose 3/8" clear braid reinforced 239002
24 Elbow 3/8"mpt x barb 90 EL38
25 Hose 3/8" clear braid reinforced 239002
26 Elbow 1/4"MPT x 3/8" Barb 90  nylon EL1438
27 Hand gun 22670-PP-15-406
28 Gun rack L15GR
29 Flat washer 5/16" FW516
30 Lock washer 5/16" LW516
31 Bolt 5/16"x 3/4" CS51634C
32 Wiring harness WHK-101SBC

LG15/25 High Volume W/ KLC



ITEM NO. DESCRIPTION PART NO.
1 Hose drop 24" long nylon 37033-6
2 Tank fitting 1/4" brass 67069
3 O-Ring 67070
4 Nut  10/24" stainless steel SSHN10/24C
5 Elbow 1/4" mpt x 1/2" barb 90 EL1412
6 Hose  clamp 1/2" M6P
7 Hose clear braid reinforced 1/2" 239002
8 Elbow  1/2" Quad port fitting 20381-009
9 Pump 12 volt  3.5 gpm 04300-500

10 Bolt 10/24" x 1 1/4" stainless steel SS10/24-114
11 Flat washer 10/24" stainless steel SSFW10/24
12 Straight quad port fitting 1/2" 20381-000
13 Tee 1/2" fpt nylon TT12
14 Hose shank 1/2" mpt x 3/8" barb nylon A1238
15 Hose clamp 3/8" M4P
16 Hose clear braid reinforced 3/8" 239002
17 Spray gun 22670-PP-15-406
18 Gun rack L50GR
19 Flat washer 1/4" stainless steel SSFW14
20 Bolt 1/4" x 1 " stainless steel SS14100C
21 Nut  1/4" stainless steel SSHN14C
22 Reducer bushing 1/2"mpt x 3/8"fpt nylon RB1238
23 Ball valve brass (chromed) 3/8" mpt x fpt 90FMB38
24 Elbow 3/8"mpt x 3/8" barb  90 nylon EL38
25 Hose clear braid reinforced 3/8" 239002
26 Elbow 1/4" mpt x 3/8" barb 90 nylon EL1438

                       TANK 30 GALLON PCO 47026
                        TANK 50 GALLON PCO 47014

LG30/50 PCO ALL IN ONE w/ Hand Gun



8



9



10



11



12



(PRICES SUBJECT TO CHANGE WITHOUT NOTICE) 

We Appreciate You and Your Business! 

EQUIPMENT COMPANY            (229) 985-1101 
P.O. BOX 3157 • 2169 SYLVESTER HIGHWAY • MOULTRIE, GEORGIA 31776-3157 

ALL IN ONE LAWN AND GARDEN 12 VOLT SPRAYERS 


